
Securing cargo. We invented the concept.

80
07

89
 D

Rullfäste med bygel / Roller attachment with clamp / Rollenbefestgung mit Bügel

144 / D / E-Series
Art.nr 800789



GewichtBezeichnungDescriptionBenämningArt.nrPos.
8,50 kgGRUNDPLATTEMOUNTING PLATEMonteringsplatta Rullfäste 8007911
2,40 kgBEFESTIGUNGSBÜGELFASTENING PLATEUNDERBYGEL8006132
3,14 kgBÜGEL OBENUPPER PARTÖverbygel Rull 8007933
0,83 kgSPANNGABELEXCENTRIC FORKSPÄNNGAFFEL8007134
0,19 kgACHSE M20AXLE M20AXEL M208007095
0,21 kgSCHRAUBE M16x110SCREW M16x110 FZBSKRUV M16x110 FZB2111206
0,04 kgSTOPP MUTTER M16LOCKING NUT M16LÅSMUTTER M16 FZB2118607
0,27 kgSCHRAUBE M20x1,5x80SCREW M20x1,5x80SKRUV M20x1,5x802111678
0,15 kgSchraubeScrewSKRUV M6S M12x1502110969
0,02 kgSTOPP MUTTER M12LOCKING NUT M12LÅSMUTTER M12 FZB21185710
0,01 kgScheibeWasherBricka BRB M12 FZB21190711
0,04 kgANSCHLAGSTOPSTOPPKLACK80071812

 ROHROPERATING HANDLEMANÖVERNYCKEL80071613
 KUGELROLLEROLLER BEARINGKULRULLE80060714
 FEDERSPRINGFJÄDER80060815
 DECKELCOVERLOCK80060916
 SICHERUNGSRINGLOCK RINGLÅSRING80061017

Securing cargo. We invented the concept.

80
07

89
 D

ExTe Fabriks AB, SE-820 41 Färila Sweden. Tel: +46 (0)651 175 00. Fax: +46 (0)651 175 03. E-mail: info@exte.se www.exte.se

144 / D / E-Series 

Page 2 

Mått / Dimension / Einbaumasse

298

343

15
6

33
0

35
0

(13)

(1
78

)

(1
84

)

42

34

1

2

3

5

12

8

6

13

4

7

10

14
15

16
17

Vikt / Weight / Gewicht: 17,9 kg

50 Nm

200 Nm

8

När spänngaffeln släpps, höjs monteringsplattan ca: 5mm/

When the excentric fork is released, the mountingplate is raised 5mm

 

9
11


